MICROBIOLOGY EXAM 5 2003
1. Which of the following has the highest concentration of bacteria (organisms per unit dry weight)?
A. Urine

B. Dental plaque

C. Saliva

D. Tears 

E. Sweat

2. Anaerobic bacteria outnumber aerobic bacteria in all of the following niches EXCEPT:

A. Oral cavity

B. Lower GI tract

C. Feces 

D. Upper GI tract

E. Vagina

3. Which of the following can detect motility in an oral organism?

A. Gram stain

B. Phase contrast microscopy

C. Genomic probe

D. Sugar fermentation test

E. Analysis of membrane lipids

4. High concentrations of menadione in a plaque sample would indicate the presence of 

A. Lactobacilli

B. Streptococci

C. Treponema

D. Veillonella

E. None of the above

5. Which of the following is NOT true for Lactoferrin?

A. Secreted by acinar cells

B. Antibacterial effects independent of antibodies

C. Interferes with bacterial cytochromes

D. Hydrolyzes bacterial peptidoglycan

E. Antibacterial action enhanced by lysozyme

6. Biofilms such as dental plaque facilitate:

A. Exposure of bacteria to systematically administered antibiotics

B. Gene exchange by resident bacteria

C. Desiccation by exposure to the environment

D. Lysis of pathogens by antibody and complement

E. Elimination of bacteria by physiologic mechanisms

7. Organisms which are facultative, have a high affinity for teeth and ferment glucose are:

A. Lactobacilli

B. Streptococci

C. Veillonella

D. Prevotella

E. Neisseria

8. The peroxidation of halides

A. Produces catalase

B. Is important in inactivating peroxidases

C. Results in the production of antibacterial substances such as hypochlorite

D. Produces thiocyanate

E. Inactivates bacterial cytochromes 

9. All of the following regarding oral malodor are true EXCEPT:
A. Bacterial by products such as pyridine and methyl sulfide cause oral malodor

B. Organisms such as Prevotella and Fusobacterium are associated with oral malodor

C. Organisms responsible for oral malodor colonize non-keratinized soft tissue

D. Organisms responsible for oral malodor colonize the lateral and ventral surfaces of the tongue

E. Reduction in anaerobic oral bacteria is associated with decrease in oral malodor

10. The reason why consumption of sugar free carbonated drinks in young populations does not result in dental caries reduction:

A. The acidity of the beverages results in demineralization which can be confused with dental caries

B. There are other carbohydrates in these beverages which can be fermented

C. These beverages produce hyposalivation which leads to the accumulation of plaque

D. Sugarless beverages contain growth factors for Streptococcus mutans

E. These beverages have high concentration of fluoride

11. Properties of Streptococcus mutans include all of the following EXCEPT:

A. Synthesizes glucan capsule in presence of glucosyl transferase

B. Acidogenic and aciduric 

C. Contains intracellular polysaccharides which are bromophilic

D. Glycolytic fermentation results in pH below 5.5

E. Colonizes teeth

12. All of the following statements about fluoride are correct EXCEPT:

A. Inhibits bacterial enolase

B. Reduces bacterial glycolysis 

C. Enhances reminerlization

D. Strengthens enamel by forming fluoroapatite

E. Acts synergistically with penicillin to lyse streptococci

13. Accepted antibiotic therapy for periodontal disease includes all of the following EXCEPT:

A. Penicillin

B. Metronidazole

C. Clindamycin

D. Tetracycline

E. Minocycline

14. Which of the following periodontal pathogens is a facultative anaerobe/

A. Porphyromonas gingivalis

B. Prevotella intermedia

C. Actinobacillus actinomycetemcomitans

D. Treponema denticola

E. Fusobacterium nucleatum

15. Evidence for immunopathologic etiology of periodontal disease include:

A. Gram negative anaerobic organisms are isolated regularly from lesions

B. Periodontal disease is a plaque associated behavior

C. Circulating lymphocytes are sensitized to plaque antigens 

D. Large numbers of neutrophils are seen in acute periodontal infections

E. Antibiotics are effective in controlling certain forms of periodontal disease

16. Periodontal pockets measuring 2-3 mm would most likely harbor large numbers of:

A. Porphyromonas gingivalis

B. Treponema denticola

C. Fusobacterium nucleatum

D. Streptococcus sanguis

E. Wolinella recta

17. Properites of Woilnella  recta:

A. Gram negative

B. Metabolizes formate

C. Isolated from periodontal pockets

D. Motile

E. All of the above choices are correct

18. Non protein bacterial toxins include all of the following EXCEPT:

A. Volatile sulfur compounds such as dimethyl sulfoxide

B. Polyamines such as cadaverine and putrescine 

C. Short chain acids such as propionic acid

D. Proteases such as collagenase

E. By products of bacterial metabolism such as ammonia

19. Periodontal disease may be associated with low birth weight because:

A. Poor oral hygiene always results in low birth weight and abortions

B. Low birth weight only occurs in poor populations

C. Fetal development may be inhibited by bacterial toxins in maternal blood

D. Periodontal disease results in poor prenatal nutrition

E. Pregnancy gingivitis results in social isolation

20. Root canals of symptomatic teeth compared to asymptomatic teeth contain higher numbers of organisms which are:

A. Facultative Gram positive

B. Anaerobic Gram positive

C. Anaerobic Gram negative

D. Facultative Gram negative

E. None of the choices are correct

21. Osteomyelitis in the oral cavity is;

A. Always caused by exogenous organisms

B. A polymicrobial infection involving anaerobes and facultatives

C. Not responsive to antibiotics and requires surgery

D. Confined to the cortex of the bone

E. Localized to the mandible

22. With respect to recurrent infections caused by herpes simplex viruses, the following are true EXCEPT:
A. Lesions tend to recur at the site of primary infection

B. A recurrent infection may be induced by sunlight or other stresses

C. Virus is latent in the epithelium at the site of recurrence

D. Circulating antibodies play little or no role in the control of recurrent infections

23. Which of the following is not a primary infection of herpes simplex?

A. Gingivostomatitis 

B. Gladiatorum

C. Encephalitis

D. Labialis

24. Which of the following best describes antigenic drift in influenza viruses?

A. Associated with minor antigenic changes in the viral hemagglutinin

B. Associated with minor antigenic changes in the viral capsid protein

C. Antigenic drift is responsible for pandemics of influenza virus

D. Usually results from recombination between influenza viruses of human and avian sources

25. Which of the following viruses cannot be detected in the laboratory using the hemagglutinin inhibition assay?

A. Influenza

B. Measles (rubeola)

C. German measles (rubella)

D. Respiratory syncytial virus

26. Which of the following is FALSE about the attachment of viruses to cells:

A. Cell receptors are specific for the virus

B. Attachment is temperature independent

C. Receptors govern susceptibility to virus

D. Attachment cannot be prevented by antibody to virus

27. Many viruses mature by budding through the outer membrane of the host cell. All the following are correct EXCEPT:

A. Some of these viruses cause multinucleated giant cell formation

B. Some new viral antigens appear on the surface of the host cell

C. These viruses contain host cell lipids 

D. Some these viruses do not have an envelope

28. Latency is a characteristic of which of the following virus groups?
A. Polioviruses

B. Herpesviruses

C. Influenza viruses

D. Rhinoviruses

29. Each of the following about viral serotypes is correct EXCEPT:

A. In naked nucleocapsid viruses, the serotype is usually determined by the outer capsid proteins

B. In enveloped viruses, the serotype is usually determined by the outer envelope proteins, especially the spike proteins

C. Some viruses have multiple serotypes

D. Some viruses have an RNA polymerase that determines the serotype

30. The ability of virus to produce disease can result from a variety of mechanisms. Which of the following is least likely?

A. Cytopathic effect in infected cells

B. Malignant transformation of infected cells

C. Production of an exotoxin that activates adenylate cyclase

D. Immune response to virus induced antigens on the surface of infected cells

31. Which of the following viruses does not possess an envelope?

A. Varicella zoster

B. Papilloma

C. Influenza

D. Human immunodeficiency 

32. The following are true about both measles virus and rubella (German measles) virus EXCEPT:

A. Are RNA enveloped viruses 

B. Virions contain an RNA polymerase

C. Have a single antigenic serotype

D. Transmitted by respiratory control

33. Koplik spots are pathognomonic for:

A. Measles

B. Chickenpox

C. Gingivostomatitis

D. Herpangina

34. Which of the following is FALSE about the human immunodeficiency virus:

A. HIV is an enveloped RNA virus

B. The virion contains an RNA dependent DNA polymerase

C. A DNA copy of the HIV genome integrates into host cell DNA

D. Acyclovir inhibits HIV replication

35. Which of the following antigens in blood is the best indicator of current infection by serum hepatitis (hepatitis B) virus?

A. HB surface antigen

B. HB core antigen

C. HB “e” antigen

D. HB polymerase antigen

36. The following HIV regulatory gene promotes the transport of full length or partially spliced mRNA from the nucleus to cytoplasm for translation to virion proteins:

A. TAT

B. REV

C. VIF

D. VPU

37. Which of the following acute and convalescent serum titers indicate a positive viral diagnosis:

A. Acute 1:64
Convalescent 1:128
B. Acute 1:256
Convalescent 1:256
C. Acute 1:16
Convalescent 1:4
D. Acute 1:32
Convalescent 1:128
38. DNA viruses replicate in the nucleus of infected cells EXCEPT:
A. Papillomavirus

B. Epstein-Barr virus

C. Smallpox virus (variola major)

D. Hepatitis “B” virus

39. Cells transformed by DNA viruses do not produce infectious virus, because:

A. Virus has a defective genome

B. Virus lacks an integrase, so virus genome does not integrate into the host cell chromosome

C. Virus cannot complete the infectious process, because it cannot bud through the cell membrane

D. Transformed cell is not permissive for the virus

40. A 4 month old female was admitted to the hospital with severe respiratory distress. Her fever was 38.9 C a pulse of 220/min and blood pressure of 90/58. Wheezing was noted on inhalation and exhalation. Chest x-ray revealed pneumonia. The following is/are true:

A. Differential diagnosis includes respiratory syncytial virus (RSV), influenza and Bordetella pertussis

B. If diagnosis is confirmed to be RSV, ribavirin can be used as an antiviral agent

C. The hemagglutinin inhibition assay can be sued for serological diagnosis if infection was caused by RSV

D. A and B are correct

41. A 1 year old male was admitted to the hospital with fever (39.5) and dehydration. Child had a 1 day history of fever, diarrhea and vomiting. Pulse was 126/min and respirations of 32/min. He was very somnolent. Upon rehydration and tolerance to oral feeding, child was discharged. Which of the following is CORRECT?

A. Differential diagnosis includes rotavirus, Norwalk virus and possibly Salmonella, Shigella and Campylobacter

B. If causative agent was rotavirus, the antiviral agent acyclovir has been proven effective

C. The enzyme immunoassay and latex agglutination test, useful for many enteric pathogens cannot be used to detect infections caused by rotavirus

D. A, B and C

42. An 18 month old female was taken to the emergency room with fever (39 C), a diffuse rash which began 5 days previously. Her rash consisted of vesiculopapular lesions over her entire body, with some areas showing older, crusted lesions. Which of the following is/are correct?

A. Differential diagnosis includes infection caused by Varicella zoster, herpes simplex , rubella and rubeola viruses

B. If caused by Varicella zoster virus, treatment of the fever with aspirin may result in Reye’s syndrome

C. An inactivated Varicella vaccine could have prevented this infection if given after 12 months of age

D. A, B and C

43. A 9 year old girl was brought to the pediatrician with fever (38.3 C) and a 2 day old rash. She also had a headache, sore throat, mild cough and conjunctivitis. A clinical diagnosis of measles (rubeola) was made by the pediatrician based on the following observations and laboratory data:

A. Morbilliform skin rash

B. A characteristic enanthem on the buccal mucosa

C. Positive fluorescein tagged anti-measles antibody on a nasopharyngeal aspirate from the child

D. A, B and C

MATCHING
44. ________Causes myositis in suckling mice

45. ________Associated with severe infantile gastroenteritis

46. ________Causes chromosomal aberrations in cells of the developing fetus

47. ________Can infect the brain steam, damaging muscles of the heart and lung

A. Poliovirus

B. Coxsackievirus A

C. Rubella virus

D. Rotavirus

48. ________Enveloped DNA virus that is transmitted by blood

49. ________Enveloped RNA virus that has the surface antigens of another virus

50. ________Enveloped RNA virus that is most common cause of non-A, non-B hepatitis

51. ________Non-enveloped RNA virus that is transmitted by the fecal-oral route

52. ________Purified surface protein of this virus is the immunogen in a vaccine

A. Hepatitis A virus

B. Hepatitis B virus

C. Hepatitis C virus

D. Hepatitis D virus




